Best model for HELP J022613.030-034349.875 atz = 1.125 )(2=42.04
OPTx?=56.82 IRx?=6.76 threshold (OPT IR)=17.0 [um]

=

=

Flux [m])y]

1

flux

Relative residual

102 - Stellar attenuated
§ e Stellar unattenuated
1] . m —— Dust emission
10 3 . —— AGN emission
/ t = Model spectrum
0 : ® Model fluxes
10 3 . M oObserved fluxes
0—1 i E . j/\
02 %T‘
-'.15‘: .v“'*"»ﬁ“
o34 H
0% - .
06 4 : |
1 | 1
] =f= (Obs-Mod)/Obs
0 _-__ ———————————— e 2y A o ——————————————— -
1 | L /.

10° 10! 102 103

Observed wavelength [um]



